
1 

GsTi :3-00 LOSof 

3. 

4. 

b) R’2R + 20 c) R’ 2R, -4R d) C;’G+ 5C; 
2. O(A) =3 x3 oDMJL� P(A) = 2 srols p(adj A) 

6. 

AoguTaN Gæ QurgID Spig. 2024 

7. 

8. 
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a) 1 

12. 

e*+1 

a) 

r(n) = 
a) nr) 

R 

a) log 2 s.9 

a) Gsflu 

dy 
dx 

iod ) 

a) yuo 

5. y=, GÜD SUGDATeJGOT 1 DÓgID 2 TG0rp GT6bGOAU�GaT JHU0gb LgÜs 

R 

a) x= cePy 

P(X)= 0,X=10 6Gie) E(X) LDgLY 
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a) -1.41 

a) 
c) 

+ px =0 sß ny 

a) 56600TLO 

a) 0 

a) 

b) 2 

b) nr(n) n>0 

10. PG ouGDEITGAI Bpleo GsitGlsOsÜ, 

13. BaD Jnsluls 

a)J2n 

11. s6Ü JGHGÜçSlsnp 6râTLISI 

16 

b) log 5 .4 

81 

b) LJQU60 6TI 

b) % 

H, 2 60GDLD GTGlsU D851ÚUGag 
H, e 6`6OLD GTGleU LDMIsGÜLGUgI 

w yoolo sTL� 

+� 

b) -1 
Ülsoy 

b) 

b) x= ce PY c) X= py.+ c 
DDó uâÜL; 0.0793 srsileu Z sß LoÜy 

b) 1.41 c) -2.25 

c) (n-1)rn-1) n>0 

b) poip 

c) 3 

b) S%GTLPleN GUNS5) C) u`SI 

b) 

c) 

1 
16 

c) log 3 e. 

c) To`TL T� 

14. Bag54 ALiBlo snty P(x) oßt LÊLQuG DfÜY 
a) lwb 

c) 1 

c) o 

c) 

c) sJTE) 

d) 0 

c) 2 

d) 

12 - J 6fle 6600fl - 1 
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d) n-1r(n-1) n>1 

d) log 4 .A 
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d)-1 

b) Ho saugi sroleb ojsÜLGaNgI 
d) Ho 5ug TslaÜ LoMI`sÜuGgI 

d) x= cy 
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20 x1 = 20 
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d) 1 

d) 
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d) B1 
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7x3=21 

7x2=14 

12 - u6Odles s6ool -2 

d) 12 

d) xex- X+c 

31. X Gnuú unpiBgI x log x ou GgnonsulGa. 
IIl. GTGDABu 7 slondsseG lenLwsfi. (oblonn root 40 sLmu elon) 

d) S.D(X) 

2x 0sx<1 

4k 

c) 7 

c) e (x-1) + c 

4 

d) buwio 
b) sTUGLIgD GOp 

3k 

157 

4 

c) V(X) 

3 

30. 5osg sDGITUæY LDml X HgI looD Blsgs4 sntsouo GluoDIstenS TGl k =0.1 

c) f(x + h) �f(x) d) f(x)-f(x-h) 

29. y' = X TGTID 6JGDGTOJ SHIjésGID X = 0, y =1 ioDpb y= 2 srstp GrsehhGet ynuG 

2k 
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3 

2 

2 

5T600T5.. 

dyyx² 

k 

1 

100 

2-3x+2 

X 

dx 

SJLD ST600T5,. 

b) e (x+1) +c 

1 

b) f(x) - f(x + h) 

P(X) 

X 

28. 6QULL 6T6OÖT60 600T` SIGO�T85. 

dx 

LLlsop 6T6�TIDT6Ü GTGÖt6or? 

24. unuisne� IJOu6lsi uGßTLJ560 (roosT ) (GpulG6. 

Y 

23. MR= 20-5x + 3x 6TGle DN`S OUGumn SIGoöTE5, 

: 

X 

1 

25. PGGlgmLiaflumeTr sDEUTuæy LoT f()= 
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-5 

Loy? 
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32. 

22. LngLSIG3: 

|1 1 

1 3 
2 -1 1 

b) 3 a) 4 sn`SuDT6T PSISG5cflsßt 6T60ÞT60Tlisns 

26. 

a) x-1 
jxe dx 

21. 
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20. 
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33. s#anule ester A Lo�nLD B slu sT HDLWNTL GlsM6TL GlumG,sTB(STH S 5r60T LDNDIseÜ 

35. @ lst AT 50 e60LW P LDTSAuls 
smGlsot fLsilouasD 6 TGoile LomgSlluloo 

36. RG J5OL 120 (psD GLLÚUGSpsi. 1 

X 
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b) 
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X 

4 

Y 
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FDgl6UWle5J 60LureTL� Glr6T LL ol6JTH 

d-y-x2+y2 

1 

1 

42. a) 9 SpjLn�flo C(x) = 8 + 6x oDDILó R'(X) = 24 eie,. GlunCg eitesoflei epu�â 

2 

43. a) háis : (D- 3D + 2)y = e% gre x =0 oppb Xx= 1 seleð y= 0 

8 

3 
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27 
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64 
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44. a) sDQJTÜIY LDmgl X 1g lsitsuL� Sesg8y sntooUu Glugictongi srGie) 

i) 

X 

P(X) 

a sou sITGU05. 

b) olÜIGS: ) 
elan1, 

5I60T5. 

() 72 9raiGNBSoG AsDTS 
(ii) 64 GN�sjS GopUTS 

b) oIGS: 

1 

Pa =-2 DÖDj� Ps = X+1 

(ii) P(X <3) (ii) P(X > 2) oppIuó (iv) P(2 < X< 5) srGroTS,. 

A 

B 

-dx 

C 
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45. a) 500 LDTG50TOu T B ofleat 2ug� Qus floOn UgaJele sjnsflums 68 i (GOPÖ, 
LolevasD 3 iGO� 6T60T 56OT`AL ÜLuGlps. 

P sin x+cosx 

4 

6 

b) Shs5 : 2+3-4-14,-2+-3,+*-5 

sin x 

30 

5 

2a 

46. a) sfiunesr GuTLLqilsi &ý Qo Qungelsat GsnaI DÖpD AoflÜy srHL;Bd 
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2 
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7 

2 4 

40 20 

47. a) Gounse Gesmyru (ypsopulo GumiGAUT`GI SSOT`SDS BT. 
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12 
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2a 
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3 
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4 

6 

10 

4 

3a 
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14 

X+2 

16 

Glei SjsGouni LoÓDILD 2juBfumemt 2ui srGO�TS. 
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12 
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